Chapter 20 

Table
1

                    Variable
Total     Marginal

Output
Cost
Cost
Cost

1
$100

2
  180

3
  240

4
  320

1.
(a)
If fixed is $100, fill in Table 1.


(b)
How much is total cost when output is 0?

Table 2

                    Variable
Total      Marginal

Output
Cost
Cost
Cost

1
$150

2
  220

3
  300

4
  410

2.
(a)
If fixed cost is $200, fill in Table 2.

(b) How much is total cost when output is 0?

1. A firm has prospective sales of $50 million, fixed costs of $60 million, and variable costs of $40 million. What does the firm do (a) in the short run? (b) in the long run?

4.
A firm has prospective sales of $10 million, fixed costs of $5 million, and variable costs of $11 million. What does the firm do (a) in the short run? (b) in the long run?

5.
A firm has prospective sales of $15 million, fixed costs of $6 million, and variable costs of $8 million. What does the firm do (a) in the short run? (b) in the long run?

Table 3



               Average
Average
Average

                    Variable
Total
Fixed
Variable
Total     Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost

1
100

2
180

3
240

4
316

5
410

6
520

7
665

6.  If fixed cost is $200, fill in Table 3. Work out your answers to the nearest cent.
Table 4


Average
Average
Average

                    Variable
Total
Fixed
Variable
Total    Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
200

2
300

3
380

4
450

5
530

6
630

7
770

8
990

7.
If fixed cost is $300, fill in Table 4. Work out your answers to the nearest cent.

8. Use your answers from Table 3 to draw a graph of that firm's marginal cost, average variable cost, and average total cost curves. (Hint: Draw the MC curve first.)

9.
State the minimum points of the AVC and ATC curves in dollars and cents.

10.
Use your answers from Table 4 to draw a graph of that firm's marginal cost, average variable cost, and average total cost curves.

11.
State the minimum points of the AVC and ATC curves in dollars and cents.

Table 5




Average
Average
Average

                   Variable
Total
Fixed
Variable
Total     Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
  500

2
  800

3
1000

4
1300

5
1800

6
2600

7
3900

12.
Given: Fixed cost = $1000; price = $600. (a) Fill in Table 5 to the nearest cent. (b) Draw a graph of the MC, AVC, ATC, Demand, and Marginal Revenue curves (the Demand and Marginal Revenue curves are identical). (c) Calculate total profit. (d) State in dollars and cents the minimum points of the AVC and ATC curves.

Table 6




Average
Average
Average


Variable
Total
Fixed
Variable
Total
Marginal

Output
Cost
Cost
Cost
Cost
Cost
Cost
1
  50

2
  80

3
100

4
120

5
145

6
190

7
250

8
340

13. Given: fixed cost = $100: price = $50. (a) Fill in Table 6 to the nearest cent. (b) Draw a graph of the MC, AVC, ATC, Demand, and Marginal Revenue curves. (c) Calculate total profit. (d) State in dollars and cents the minimum points of the AVC and ATC curves.

14.  (a)
Fill in the marginal output column of Table 7.

Table 7

Number of
Total
Marginal

Workers
Output
Output
0
  0

1
  2
___

2
  5
___

3
  9
___

4
13
___

5
16
___

6
18
___

7
19
___

8
19
___

9
18
___

10
16
___

(b)
Diminishing returns set in with the ____ worker.

(c)
Negative returns set in with the ____ worker.

15.  (a) Fill in the marginal output column of Table 8.

Table 8

Number of
Total
Marginal

Workers
Output
Output

  0
  0

  1
  3
___

  2
  7
___

  3
12
___

  4
17
___

  5
21
___

  6
24
___

  7
25
___

  8
26
___

  9
26
___

10
25
___

11
23
___

12
19
___

13
11
___

(b) Diminishing returns set in with the ____ worker.

(c) Negative returns set in with the ____ worker.

